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&5 X 4 Er%;f 'Fﬁﬁh‘(‘z)@ﬂﬁ%’é 73(5’35:;5)3 X 4 Tﬁn“ﬁé\ézgikilz ‘(.é,r'n‘c; jj(lf;iqm%)é X 4 E.é,r']:c; J:ﬁn“ﬁ;b\(i;btt‘.%} jj(lf;iqm%)é X 4 J:ﬁﬁ;ﬁ\(‘z)d)tt?% _(r%;n_c;( ﬁ(g’zfnié
7 100kN/m%z#Z5| 100|000 ~ 252| 139.51 |3m&E#ZE| — ~ — — — | 100kN/M%&#8=2% | 1.00 | 1057 ~ 21.19| 139.51 |3m%E#BZ% - ~ — — —
s 1.00 | 262 ~ 1030 100.00 | ENLS | 000 ~ 1030) 2.76 13.97 Zh st 1.00 | 6.00 ~ 1057 100.00 | ThLS | 500 ~ 2119| 2.76 13.97
2 100kN/m%z#Z5| 100|000 ~ 217| 13364 |3m&EEZE| — ~ — — — | 100kN/M%&#82% | 1.00 | 1065 ~ 1884 13364 |3mE#BZ% - ~ — — —
s 1.00 | 217 ~ 995 100.00 | 0S| 0.00 ~ 9.95| 2.46 12.44 zhLst 1.00 | 6.00 ~ 10.65 100.00 | =hSt | 6,00 ~ 1884| 2.46 12.44
3 100kN/m%E#8z5| 1.00 | 000 ~ 269 142.39 |3mEBZB| — ~ — — — | 100kN/m%E#z25 | 1.00 | 11.14 ~ 2319 142.39 |3mE#EZ5 - ~ — — —
s 1.00 | 269 ~ 1048 100.00 | TS | 000 ~ 1048| 2.94 14.84 st 1.00 | 6.00 ~ 11.14 100.00 | =0 | 6,00 ~ 2319 2.94 14.84
4 100kN/m%E#8z5| 1.00 | 000 ~ 292 146.33 |3m&EBzZB| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1085 ~ 2466 146.33 |3mEEZS - ~ — — —
s 1.00 | 292 ~ 1071 100.00 | #nLs | 000 ~ 1071 287 14.52 zhLst 1.00 | 6.00 ~ 1085 100.00 | =hSt | 6,00 ~ 2466 2.87 14.52
5 100kN/m%E#BZ5| 100|000 ~ 272 14288 |3mEEZB| 000 ~ 002] 5.01 15.22 | 100kN/m%i#8z25 | 1.00 | 11.59 ~ 2454 14288 |3m&E#BZB| 2000 ~ 2454 3.01 15.22
s 1.00 | 272 ~ 1050 100.00 | #FnLS | 0.02 ~ 1050| 8.00 15.16 st 1.00 | 5.00 ~ 1159 100.00 | =nLSt | 6.00 ~ 2000 3.00 15.16
p 100kN/m%EBZ5 | 1.00 | 000 ~ 305| 148564 |3mEBZB| 000 ~ 047 528 16.60 | 100kN/m%#B25 | 1.00 | 11.05 ~ 2635| 148564 |3m&EBZB| 2500 ~ 2635| 3.28 16.60
s 1.00 | 505 ~ 1083 100.00 | #FnLS | 047 ~ 1083 8.00 15.16 FhnLst 1.00 | 6.00 ~ 1105 100.00 | =nLSt | 6.00 ~ 2500 3.00 15.16
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhst ~ ZhnLst ~ st ~ zhst ~




